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Aufgabe 1
Multipliziere aus wie im Beispiel a).
a) bx(z +6) = brz + 30z b) 9y(2y + 3x) c) 9(3¢c+d)
d) 8(4b+2c+d) e) 3(15d + 14e) f) 10z(x + 2) g) 5(2w + Ty)
h) 4(9b + 2¢ + 2d) i) Tw(Tw + x) j) 10e(e + 4d)
Aufgabe 2
Multipliziere aus.
a) 4(2w + 5y) = b) 6(c+4) =
c) Tz(z+8) = d) 5(183w + 8x) =
e) 4(11v +24y) = f) 2d(d +12) =
g) 5z(15x 4+ 13y) = h) 2¢(a +39) =
i) dx(z +19) = j) 6b(b+ 16) =
Aufgabe 3
Multipliziere aus wie im Beispiel a).
a) 3w(x + 17) = 3wz + 51w b) 8(c+5) =
c) 6(e+7) = d) dv(y+18) =
e) 3(x+32) = f) 5(b+13) =
g) 9d(b+T7) = h) 8y(w + 5) =
i) dw(y + 10) = j) Tx(y +6) =
Aufgabe 4
Multipliziere aus wie im Beispiel a).
a) Ty(v+6) = Tvy + 42y b) 8(3b+4d) =
c) 8x(r+4) = d) 3(10b+ 3e) =
e) 5(Tw + 6x + 62) = f) 3b(d + 10) =
g) 3c(c+7) = h) de(c+7) =
i) 2(10w + 112) = j) 6(b+4c) =

Viel Erfolg!
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